RAMN: F47 - AX - Ty Y=o n 1/6 =¥
FfER : 2024%10H22H
BmRAE FRYT
FTEURIRR :© HIPREL
HDCPHIPR : 5 999.0 % 999.0 =7 999.0 %&¥=7 999.0
BEIERF . v > ARSERH
BELA—: P:123478 ®:124579 FE:345689
NE{iz LAY —4 [i] B 3] GROSS | HDCP NET
7 B 40 36 76 7.2 68.8
EEB IN=T=7 ) £k 44 45 89 19.2 69.8
3fiL TE Z £k 42 40 82 12.0 70.0
AL (S £k 41 40 81 10.8 70.2
v ERE B3 £k 42 44 86 15.6 70.4
61z HLE EmM £k 42 42 84 13.2 70.8
7L FE E— £k 47 47 94 22.8 71.2
8fiL FE BE k& 41 40 81 9.6 71.4
9fiL AOH HR £k 41 40 81 9.6 71.4
1013z BAIER i Bk 44 36 80 8.4 71.6
1111 hg BT k& 43 43 86 14.4 71.6
12131 W BB Bk 52 45 97 25.2 71.8
1311 Fifp FESE £k 42 42 84 12.0 72.0
14141 L & £k 39 38 e 4.8 712.2
1511 ®BEE BE £k 39 38 77 4.8 712.2
1611 ®BEE W £k 41 42 83 10.8 712.2
17101 s RS £k 42 39 81 8.4 712.6
181z INEFE TRRER Kk 40 46 86 13.2 72.8
1911 BR B £k 40 45 85 12.0 73.0
201z 41 44 85 12.0 73.0
2111 HE £ £k 36 36 12 -1.2 73.2
22101 B SF £k 41 42 83 9.6 73.4
2311 kg = £k 43 46 89 15.6 73.4
2441 AR =— £k 47 48 95 21.6 73.4
2511 4R {8 £k 47 48 95 21.6 73.4
2611 BR —IT £k 39 37 76 2.4 73.6
2711 s B Kk 39 43 82 8.4 73.6
2811 (i S £k 48 46 94 20.4 73.6
2911 ERE EX £k 39 42 81 7.2 73.8
301z LS /N k& 42 45 87 13.2 73.8
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3114z RKAR 1= £k 43 44 87 13.2 73.8
321 xE E £k 46 47 93 19.2 73.8
331z ERE IEE £k 38 42 80 6.0 74.0
3441 BRI fE— £k 43 43 86 12.0 74.0
35z Bl SRIT £k 45 47 92 18.0 74.0
361z BiE FH Bk 38 41 79 4.8 74.2
3741 fEpE  —PHER £k 39 40 79 4.8 74.2
381z BiE Ei& £k 44 41 85 10.8 74.2
3911 STU B £k 41 44 85 10.8 74.2
401z NS £k 40 51 91 16.8 74.2
4111 41 43 84 9.6 74.4
4241 TE T3 £k 47 43 90 15.6 74.4
431 BR #E £k 43 40 83 8.4 74.6
A4f1 e MR £k 45 44 89 14.4 74.6
451 (s & Kk 45 44 89 14.4 74.6
A61L BR W £k 46 49 95 20.4 74.6
ATHI A BIE £k 54 47 101 26.4 74.6
481 =fF R Kk 42 40 82 7.2 74.8
4911 NSty £k 41 41 82 7.2 74.8
501z TR —x £k 54 46 100 25.2 74.8
511 e BED Kk 50 50 100 25.2 74.8
b21iL K F £k 44 43 87 12.0 75.0
531iL BE A Kk 42 45 87 12.0 75.0
Yiiva =B B £k 43 56 99 24.0 75.0
551iL N KT B 41 39 80 4.8 75.2
561iL EAR B— Kk 45 47 92 16.8 75.2
b71iL A7 Kk 47 45 92 16.8 75.2
58I EH BEX Kk 57 46 103 27.6 75.4
591iL Bl =3x £k 50 46 96 20.4 75.6
601z B R3E £k 48 48 96 20.4 75.6
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6111 WEE FIZ £k 38 39 77 1.2 75.8
6211 47 48 95 19.2 75.8
6311 BB & £k 41 47 88 12.0 76.0
6441 k4K & £k 48 46 94 18.0 76.0
65111 A B £k 45 42 87 10.8 76.2
6611 kB RE £k 43 44 87 10.8 76.2
6711 gl % £k 49 44 93 16.8 76.2
681z TH FHI £k 47 52 99 22.8 76.2
6911 BR E— £k 45 41 86 9.6 76.4
701z BB Ul £k 42 44 86 9.6 76.4
7141 A A £k 50 48 98 21.6 76.4
72141 o FEX £k 49 49 98 21.6 76.4
7311 W T £k 55 49 104 27.6 76.4
7441 BE T £k 40 39 79 2.4 76.6
7511 =iE e Kk 42 43 85 8.4 76.6
7611 & IEfE £k 50 47 97 20.4 76.6
TTHI B4R B— Kk 51 46 97 20.4 76.6
7811 T= ) £k 47 43 90 13.2 76.8
7911 LZEE TR £k 50 46 96 19.2 76.8
801z BIER &R Kk 54 54 108 31.2 76.8
811z 45 44 89 12.0 77.0
8211 43 46 89 12.0 77.0
831ir TR B Kk 42 47 89 12.0 77.0
8411 BE k= Bk 49 46 95 18.0 77.0
851iL g K= £k 47 48 95 18.0 77.0
861z 52 55 107 30.0 77.0
871iL EpE FHE Kk 49 45 94 16.8 17.2
881iL 855 E=F £k 51 49 100 22.8 77.2
8911 (s Es £k 50 50 100 22.8 77.2
901z BR F k& 52 54 106 28.8 77.2
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9111 IR TS £k 51 55 106 28.8 17.2
9211 FTiE BH £k 46 47 93 15.6 17.4
931z 2HE EE £k 52 47 99 21.6 17.4
94431 FE F— £k 51 48 99 21.6 17.4
951 BR EX% £k 39 41 80 2.4 17.6
961z kRO AL Bk 49 49 98 20.4 17.6
9711 BIFE M k& 45 53 98 20.4 17.6
981z FiE Bm k& 50 54 104 26.4 17.6
991z NEFEF O HE £k 57 47 104 26.4 77.6
10011z TIE FHR Bk 53 44 97 19.2 77.8
1011z kg k& 54 49 103 25.2 77.8
1021z 51 52 103 25.2 77.8
10311z = A £k 41 43 84 6.0 78.0
104141 =& FHR £k 45 45 90 12.0 78.0
1051z B4R BR Kk 47 43 90 12.0 78.0
1061z HHE % £k 44 52 96 18.0 78.0
1071z kg EE £k 54 54 108 30.0 78.0
10811z kg ME Kk 55 52 107 28.8 718.2
10911z =B EXER Kk 52 61 113 34.8 718.2
1101z BIIER = ALE £k 45 49 94 15.6 78.4
111101 55 51 106 27.6 78.4
1121z }|AR g Kk 47 46 93 14.4 78.6
1131z NhefHxR E= £k 46 47 93 14.4 78.6
114141 WA 3k Kk 47 51 98 19.2 78.8
1151z 18H - Kk 56 60 116 37.2 78.8
1161z FRE RBP £k 43 42 85 6.0 79.0
117141 FE = Kk 49 42 91 12.0 79.0
1181z Kk & £k 45 51 96 16.8 79.2
1191z b= L CIN Kk 45 57 102 22.8 79.2
1201z NS Y k& 51 56 107 27.6 79.4
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121141 =K =5 £k 51 5b 106 26.4 79.6
12211 5B AR £k 49 50 99 19.2 79.8
1231z EJI IESE £k 47 52 99 19.2 79.8
124141 =) Et £k 50 49 99 19.2 79.8
12511 = R I £k 54 50 104 24.0 80.0
12611 TE HE Bk 51 52 103 22.8 80.2
127101 =aE MR k& 50 53 103 22.8 80.2
12811 TR #E £k 58 45 103 21.6 81.4
1291z B4R & Bk 53 55 108 26.4 81.6
13011z fEAKR R Bk 51 57 108 25.2 82.8
1311z Bl %N k& 57 51 108 25.2 82.8
13211z EAR R— Bk 59 61 120 37.2 82.8
13311z AR & Bk 48 58 106 22.8 83.2
134141 Ml #H £k 53 59 112 28.8 83.2
13511z aml B £k 50 48 98 14.4 83.6
13611z 61 64 125 40.8 84.2
13711z s Xz Kk 54 50 104 19.2 84.8
13811z kg —& £k 76 67 143 56.4 86.6




